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&KURQROL]HU� 6LUDK� 1DEDZL\DK� %HUEDVLV 7UDQVPHGLD� 6WRU\WHOOLQJ� GHQJDQ� VWXGL�

NDVXV� )DVH� 6HEHOXP� .HQDELDQ� PHUXSDNDQ� VHEXDK� DSOLNDVL� \DQJ� EHULVL� WHQWDQJ�

VHMDUDK� SHUMDODQDQ� 1DEL� 0XKDPPDG� 6$:� GDODP� PHQ\HEDUNDQ� LVODP�� .DMLDQ�

VLUDK� QDEDZL\DK� GLDPELO� GDUL� ULZD\DW�ULZD\DW� \DQJ� GLVDPSDLNDQ� VHFDUD� WXUXQ�

WHPXUXQ�� VHUWD� PHQJJXQDNDQ� PHGLD� EXNX� VHEDJDL� EDKDQ� XWDPD� SHPEXDWDQ�

DSOLNDVL�

3HUDQFDQJDQ� LQL� EHUEHQWXN� YHUVL� GLJLWDO \DLWX� 3&� �3HUVRQDO� &RPSXWHU���

PHQJJXQDNDQ� WRROV� 8QLW\� GHQJDQ� NRQVHS� 7UDQVPHGLD� ,QWHUDFWLYH� 6WRU\WHOOLQJ��

DJDU� PXGDK� GLSDKDPL� 0HWRGRORJL� \DQJ� GLJXQDNDQ� \DLWX� 5DSLG� *DPH�

'HYHORSPHQW� 0RGHO�� 0HWRGH� LQL� GLDGDSWDVL� GDUL� PHWRGH� $WRPLF� 'HVLJQ�� GDSDW�

GLJXQDNDQ� ROHK� SURJUDPPHU SHPXOD� XQWXN� PHPEDQJXQ� SURWRWLSH� JDPH

IXQJVLRQDO�GDODP�ZDNWX�\DQJ�VLQJNDW�

3HQJXMLDQ� &KURQROL]HU� GLODNXNDQ� XQWXN� PHPHULNVD� VHWLDS� IXQJVLRQDO� GDODP�

DSOLNDVL��EHUMDODQ�GHQJDQ�EDLN�GDQ�VHVXDL�GHQJDQ�SHUDQFDQJDQ�\DQJ�WHODK�GLVXVXQ�

VHEHOXPQ\D��3HQJXMLDQ�SDGD�&KURQROL]HU�)DVH�6HEHOXP�.HQDELDQ�PHQJJXQDNDQ�

EODFN� ER[� WHVWLQJ�� KDVLO� GLGDVDUL� SDGD� GHWDLO� DSOLNDVL� VHSHUWL� WDPSLODQ� DSOLNDVL�

IXQJVL�IXQJVL�\DQJ�DGD�SDGD�DSOLNDVL��GDQ�NHVHVXDLDQ�DOXU�IXQJVL�

.DWD� .XQFL�� 7UDQVPHGLD� 6WRU\WHOOLQJ�� &KURQROL]HU� 6LUDK� 1DEDZL\DK�� $SOLNDVL�
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